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Note:-

(1) All Suggestionsare to be sent with reference to website publishedQuestion
paper with Provisional Answer Key Only.

(2) All Suggestions are to be sent in the given format only.

(3) Candidate must ensure the above compliance.
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001.

002.

003.

004.

00s.

006.

007.

008.

ay 2011 -l ald aral Yot dend-u 1A salden Breauzi W sul [yeal aulasaad (221 nau
sHI5 2L Y ?

(A) iR (B) 2u8ig
(C) e18ie (D) "3l
Q2 [Qannl [Qrueumi a4 diou [ase vaie s
(1) 21zl Sl A€l ARl MeAn “Sin” s 6.
(2) stinsll ol cqreumiall o el s1fl 207 sl il .
(3) 2 LA SUIAAL UL Uo WIS S A 8,

(A) [Qat (1) 241 (2) i 89. (B) [t (2) 241 (3) 0l 8.
(O) [Qaut (1) 21 (3) i 89. (D) A8 (Gt i 8.
MR [l soi- Bl .......... 612l 29 69,

(A) Ala (B) Al

(C) vllm (D) viawul

[y e 28, 1960 2412 Hid 2 galdd A1 UL 56 Al-1 el uaus (AR 530 asig el ?
(A) dan (B) 2udl

(C) Ay (D) B

g2l AUAH vl 6igR dZls 511 s vieR DA UL 53 €9 ?

(A) AN (B) wil2r=u

(C) Mwcua (D) £8%

[Rruaun 2ulun vissinidl youd DA VA g wa a9 ?

(A) di8 s (B) W3LHL» viues

(C) uRM (D) Gua~uL A8y

Al 12 ealda cra@sdain Qo ad- uiou [Aseu ue 5.

(1) 20 ue Al D2l #1019 3 ol ALl Y-l well €2 ad ugia 8 214 Adl wdl cawdl
was ¢,

(2) 20 N2 &R FL B AASS dZlS AL M 69,

(A) MR (B) “g

(OEM (D) Bid1R

MRAHL sRall sila-l az2ud S.2u0. .......... Hi Alsusiuni [Qsdar aG-l ol olda-w Guaiadll ad
sdl.

(A) 1966-67 (B) 1967-68

(C) 1969-70 (D) 1971-72
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009. BTk iAW HELIHE UL USIRU B “WsA-s MRS [Rula s 8 ?
(A) 2U$ (M) WAvR %2l (B) Y5 WiriviR %01l
(C) Guas(2oily siawn ool (D) BuR Q4 visunt €l
010.  $¥ AU HRAG 70% dity Gu~1 5368 ?
(A) 28U (B) [Ruuad uea
(C) A%AIM (D) BIRvis
011.  wuriay sufdggd uRula-u 56 1€l U duIR scUHi uda 6 ?
(A) 51431 (B) W11
(C) cumuedl (D) WRuR

Y nY

012.  IARAAH] UENA Feiadl Geloi-l Ald, U3+ 244 3 21 AR UsR-L 52913 155l sl 2udl ©.
2R+ el Al ay Gellol sui 6 ?

(A) HHEIULH (B) A3leAHI
(C) YRaul (D) M3 [Aziui
013.  s3[A2 adls ‘AR’ Gu-unell el 24 @alsad W un g 8 ?
(A) ds [Adel (B) Als-eud QUL
(C) viflane aut (D) AAst-d aul
014. 91l “oert R« [Br3edl s qarami 2uda sa ?
(A) dIR He (B) £4UdRIH
(C) "ladAH (D) -igeisR
015.  ANasi2 2ulecuy cuud DA U5 519 2us 20l 8dl ?
(A) AR (B) vi3a
(C) [acum xnu (D) avdlis®
016.  ul2anRll disi-i 2121l Geua “@RiRu’’ (Bhagoriya) $41L ABUHL HelldHi 20 €9 ?
(A) HEAUBA (B) BIRUiS
(C) woud= D) RalEsu
017.  ORAdui “senzia’’l euu-i 518l s3A sl ?
(A) iudlensd (B) 2Asis: Aan
(©) FAAscnq uw (D) $7, 2S
018.  ‘IAHIW, ‘23w, ‘FusA’, “galiisy Fdl e Al su 20 2w sdl ?
(A) HHEAE (B) Yd

(C) asien (D) Yo1s
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019.

020.

021.

022.

023.

024.

025.

‘s’ gl v’ wigl W A ulou [Aseu yaie s,

Alel - & Alel - v
(i) EVUR Sld Ry FuH (1) *ua2R
(i) ou ¥ylHum (2) xudl

i) Prueus sun AAsiaa (3) A
(iv) S-sidiow Ry Sz 4) srRsl
A) @) -@3), (i) - @), (i) - @), @(v)-(Q)
B) (@) - (1), () -@), (i) -(2), (@(v)-4)
(©) ()-3), (i) - ), (i) - (2), (@@v)-(4)
D) @) - @), (i) -(2), (i) - @), @(v)-E3)
siwst ueell-u [Becutl sui 2udan s ?
(A) [Quast (B) sidl
(C) MRS (D) W33
Q2 [Qannl [Queumi a4 diou [ase vaie s
(1) Rssen el ‘Goud 25 §.00. Sad 2n vtalrirg-ua 21002 g1L A3 sAH] 2044 sdl.
(2) Sl A3 4 ¢ Yl (Despair and way to peace) [il?lg[?l ofl, L. A=ua-dl 9,

(A) [ (1) g 214 (2) vl ©. (B) [t (1) vig 21 (2) Y 8.
(O) [t (1) 24 (2) bin vilei 9. (D) ti [l 02l 6.
21l 150101 12 caldd A sUL et ssR 9 ?

(A) AR8u8 (B) dsicll

(C) uRie (D) i@

4l2i21 (Yaoshong) il Muld HUis Geata su1 AUUE Uiyl 204 € ?
(A) A32UAG UL (B) 1lay:

(C) Rulzsw (D) U

AR Alsvied s APUG O ?

(A) 8[Rusu (B) AU

(C) 91l (D) HEME

Y

yuera 220 ouotdui DA [l [Queuni ad< sy / sai [Qan / (a0 6 d {9 aiou [Aseu
U e 2.
() SeR (PuyAs AN A)HI FAUR-6UWRA 1A 69,
i) [RRie s19llR s YRudr @n 6.
(iii) ¢4 Sin (sUgn)Hid) asll owaidl yey- s[RuRl whia 9.
(iv) W80l U4 Grrue ] s Yldra a0 8.
(A) [ (i), (iii) 21 (iv) 0 9. (B) [Qtu~t (i) 21 (i) 02l €.
() [Qau-t (i) 241 (i) 2l 8. (D) Aot [t (i) 2 9.
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026.

027.

028.

029.

030.

031.

032.

033.

034.

03s.

Q2 [Qannl [Qrueumi a4 diou [aseu vaie s
(1) Wil ARRAATHL H8L% L UL AL [duen [Bean st gt 244 [Qaun A4 vidl Sl

(2) 20 uHHL UL ollou e siarl tied e91s AU vidl scu-dl agzud as sdl.
(A) [ (1) g 24 (2) vl ©. (B) [t (1) viig 21 (2) Y 8.
(O) [Qaurt (1) 24 (2) i 1l 8. (D) (@t (1) 24 (2) i vilei 9.
A2 [Qannl [Queumi ad d 59 A AqeiBd 9 Al 2iou [Ase vrie .

(1) a-ll 22u-n .1, 1830 i asd ¢dl.

(2) 2 22 ot usi-l Hldyon 2 sifadl [y sdl

(3) a2l GulAueint (s AL S
(A) el Ay (B) A& Wy
(C) AHgWA M (D) W&l A+

HIoLE be s YerHgS Uatal tu2oud WA “RiRley”’ Al s wis AR 53 ¢d), d Yoot daan sumuaqd
sUL NS A AR WL 201 el ?

(A) W (B) gvvial

(C) Sgvue (D) Bur Q4 visunt €l
yRcul su1 avui Hlsidl [Agis 2l gdl ?

(A) .. 1819 (B) 9. 1839

(C) $.:. 1844 (D) $.u. 1838
t9a1uld (Rl AUAH Auid Y UR AR 2USHRL $Y o ?

(A) .. 1670 (B) 9. 1660

(C) $.:. 1672 (D) $.%. 1664
duusAU datril HaH Al dls dandul S8l WA s 8 ?

(A) R uusans (B) E1HI2 duAsaLs
(C) AWRAA Y aL (D) sdlisna udan

Yt Aol Ao 2l i uesid Aldil-n wlalAlEzi we nilds tiaueuzsiul uHed H [Aenomi
§a 52dl 5l AUHA Ay 58l 24y ¢ ?

A) 71 (B) 141

(C) 148 (D) 66

AR g4 3as1GAHl via Ald vi-ad DA-unidl Anan sy A via 2y ed ?
(A) Al (B) AlAAYR

(C) YR (D) 2l

GURAHE SUL AHL YA vial-l Raney iy sl el gdl ?

(A) S.3. 1833 (B) 9. 1840

(C) $.:. 1849 (D) $.:. 1829

§.. 1938 i suL 20 HolA SIAA- 2ALRAAAU UHM YANAG 6L Sell ?
(A) a3l (B) A3ieL

(C) URd [reand sRy1 oun (D) HHELUE
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036.

037.

038.

039.

040.

041.

042.

043.

044.

dlRuouml o staoud- 5128 uen usdl sisl-l 2g2ud il su aduian s3a edl ?
(A) diS I3 (B) dl$ Axus$
(C) ais A3 (D) ais (-2l ol
Q2 [Qannl [QRueumi a4 diou [ase vaie s
(1) 220 s[ALRA A 2014 1 A6l vt 249 A+l AS U AL Sl

(2) U ASUd AR Aol v 2 WKL [AReURHE HRAS 2uas 3. 972 xa B[RS 2uas 3L 32
21 AT [A2eli2 W2 HUAs 2nas 3[MAL 1407 211 B[RS 2uas 3[R 47 [Rud s34 Sl

(A) [, (1) W 24 (2) vl ©. (B) 6in [Qtu- viei 69,

(C) tin [l ui 6. (D) [ (1) Wi 211 (2) 3y 6.

ogll 25llel@il 22 Al 25UALRD HUAAUHT U RUR Y5 AHU W AU[HS 6IRAYUR o1 8. 2udl
iUl g 58 €9 ?

(A) Sl oiRiusl (B) a1y, 615131

(C) HuudLd, ol (D) WAL sl

2L 2lleg Alsant 524 Qa1 A €l 211 d @alsd slRigouR Sid dl d [RlEd siou: 45
LN € ?

(A) s Qe (B) 2-lcs sau Yl e
(C) W[t Qi (D) xiR-as sau Yl Qe
Al s Yraw xAMRMAUH, 1986 U AetHi DA [l [dueuni ad4 diou [Asey ure su.
(1) 2u R dsm 2[AsinqL e21 WA s aitl ad us ©.
(2) ti=srll sHARN2AL ML 5181 617501 A TR 2 U3 dl 24 [Rau s bivs i

sRuie ad us 6,
(A) ti [l 02l 6. (B) 6inl [Qtu- viei 6.
(C) [t (1) g 24 (2) vl ©. D) [t (1) Wi 211 (2) 3y 6.

vecl 2R ARelds i i ool suadl gsiil argil-il Gudl-l dslad 2512 Gold & d g 58
87

(A) sl (B) 2uls Ausia

(C) uoildl (D) dRL A8

2USHL SIUEL AN .. Hi BHAUL UL Sl

(A) 1937 (B) 1947

(C) 1956 (D) 1962

uddla &xit (s sisHiAL 56 daadla dig-umi ag2ud sami 2udl edl ?
(A) Ao (B) widl

(C) winMl (D) 94

Al a1el-1 Al [Qeair 012 W4 sui 6 ?

(A) 5121434 - Sld4Y (B) A1es1oUe - sl&ul

(C) uldun - Yol (D) 518131 - gL - guau gl [y [Araiz
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045.

046.

047.

048.

049.

050.

051.

052.

053.

054.

2 eaidd AUl U sy A% & Al ay Baillea-u Ao 4il 1ol (State Highways) 4214 € ?

(A) 2L%0d (B) s

(C) AU (D) $QU2s

AU He (A5 ollS Yruay sui2uda 8 ?

(A) a5t (B) 8guoue

(C) Hus (D) U2

ARl 5[ Qs dlorurl a3ia s© daadla dig-u gauiq as ¢dl ?
(A) >usHl (B) -ta¥l

(C) el (D) 2llanR3dl

GIRcAL RN glRL AU HE 22 A0 RS uda1R1 2018 AR 5N 247 et &AstHi 4 2016-17 Hi
secl 25 Al glnaadqa 9 ?

(A)5 (B) 4.8

(C) 4.9 (D) 4.7

2UHVHI S AFAR A AR UMM ..., «w A% 2uefl 24 A4 2ru-udl, dd viERUHA
53 24 Ul 21[d s3 11,

(A) 26 U212, 1949 (B) 26 4¥IR, 1949

(C) 26 Ay, 1950 (D) 26 A2, 1950

UHA AU 2L AR 516 Al agtaupdd] vl oouil cuR ughl-u SIS ad 4841 auimi HRaxl
viell opouiil als A [l 4 259 ddl o ildu-ui su adni sami >uda edl ?

(A) 2000 (B) 2002
(C) 2001 (D) 2003
QR AlQni oa-lla-u ga sean wolels Rsidl o ?
A)19 (B) 17
(©)18 (D) 16

QR Al Ao xR €35 AU disuMID clssi-l v Adl ld s1naaHi >uda s d
v 14 A%l azdld uHeL asu sia i Y, dHm Aol 12 AUsuR0v] 8, uid 20 A s

Al azdl .......... el ay L gia al Pl ey usdl -l

(A) 14 B) [Ad=

(C) s (D) 21l

YA LSS 2uUloL AlRAUH, 2013 8601 Alsysd a5 [Rradl ulsa ldidl €lal Qe 52 d
Adluell uin -l Yea Yyl zaat.......... il GHR Au 27 il 7 add i, il Yl Siel w530
A5 8.

(A) 60 (B) 62

(©) 65 D) 72

RURArL BRAdH Al —uaElai-l ivan A58l sl an si-l e ?

(A) Aae-ll (B) 1xulal

(C) GRAAH = da-L Yo, ay[d- (D) GURd A5+ S1U4EL Honau-l
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055.

056.

057.

058.

059.

060.

061.

062.

063.

064.

Alsueild ady [Auof + 2 dl, d-l uddl oiss 2 158l Al drdlvidl uin ad Yl d g, 89 uig
521521 Ggaingl AU 1Y dl AAE SIUEL 53 A58 adul auiR s2dl Yed YHl doudl asa ?

(A) &9 Hi YHl (B) AQL Hix YHl
(C) ¥s a yHl (D) 6l o Y4l

SIS SIUAELL 5 @ SlScrl SIS UsA 19 BRAdM ~nad d [AnRlARHa s Al guldd surd-
Alasnni suL 21g269¢ S A 9 ?

(A) A1 2€ 140 (B) 4249 141
(C) A1 29¢ 142 (D) 2A4249¢ 143

QR AQaA Aos Ag1R “AdyRd Ald2il e AU 2uAH viE, Guiaa wid ol
s2d) vl AUl AvALL 8 ?

(A) 4 (B) A8

(C) AR (D) i

QIR AlQHE M09 Wi gl dadil sorus i 2 WAL suL Aosami awdy usdl el ?
(A) PUE~3 (B) Haay,

(C) PRiru (D) GuR-L ABY A%AUL

s R dl Y sidl ydaiogRlell [2edl Guia cuaui oflog a2 sAA01 i a5 © ?
(A) egula-l (B) At

(C) 5v% a5+ (D) o HURAL 5[R2A2-)

U6 AU ALS Al AUALLAL ACU, AUEIR SAUU el dHA Sl Ul 51 g2 53 A5 ?
(A) d AU AFAWUA (B) d Al$ Acll BUALAAL AR

(C) d AU Huud-dl (D) 2uld

1332+ 6+3=....0....

(A) 111 (B) 222

©) 74 (D) 444

318 x 318 +282x 282 = ....0....

(A) 180648 (B) 80578

(C) 190800 (D) 179648

56 254 uR AEL ) 6 HI-UME 4% WS cucr-u e 31 300/- @uo Wand) asiu ?
(A) 30 7,500/- (B) 3[R0 12,000/-

(C) 3l 15,000/- (D) 3 10,000/-

R

o] YuULAAL AETIH ARG AU 325 €9 24 drll I TH ALHIREL AU 10 . % 6] UL s v 25
Sid dl ol v 56 sal ?

(A)75 (B) 225
© 9% D) 130
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065.

066.

067.

068.

069.

070.

071.

072.

073.

Aa:b=5:7xb:c=7:38dla:c=.......... Y3l.
(A)5:9 B)7:11
©)5:3 MD)3:5

15 Q2tHi 40 (el 9, )l 4322 GHR 16 ad 9. s [Qendl 5 %) GH 18 au € A ven 918
ol 26 69 2, ollod Al [Qenell srvia i O dl an [Qensdl-l GH: 2dl w9 ?

(A) 13 i (B) 12 4
(C) 16 (D) 15 ay

HBAU A5 511 18 [BaAini Y3 530 a5 © 214 242 20 514 12 Bauini y3 53 as 6. oid wulld d 5114
seq RaAiniyg s as ?

(A) 7.4 (B) 8
(©) 7.2 (D) 7
Yoy, [dsey vudl ouL WIS uRie $2U.

PMT, 0O0S, NQR, ....5....

(A) MSQ (B) MSR
(C) MRS (D) MST
23, 28, 38, 49, ....%...., 70

wuell oL W2 Uiy [Aseu yrig 3.
(A) 58 (B) 59
(©) 62 (D) 68

100 (3.4 ula seusl 33U 245 Yais 26 A 8, 21 251 Hiadudlz R 91321 utdl 6 sans uesl
221 913 8 2 4 seusHl d-udl 200 Alsull oau 9, weadndl-l ssu sedl wal ?

(A) 40 (3.4l / scus (B) 36 (3.3, / scus
(C) 50 (3.4l / scus (D) 60 (3.4 / scus
P x8-250=398

uaid W12 iy [Aseu vrie .

(A) 3 (B) 6

9 D) 12

A1 x4x5=126252116x 9 x 11 =3681121 Sid cll 18 x 21 x 27 IRAGIR Sl A ?
(A) 324729441 (B) 324441279

(C) 324441729 (D) 324441972

281 v 1 [As1A A28, (DRDO) +l 2euu-it suL anui a8 gdl ?
(A) 1955 (B) 1956

(C) 1957 (D) 1958
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074. A [Qauqi [Qieuui ad wioy [Asey vrie s30.
(1) oell2flor wias iruadimi SEuH il g5 sl GuaioL e 8.
(2) uglauu-u ylEsami silRes AL auaa 9.

(A) ti [l 02l 6. (B) 6in [Qtu- viei 69,

(C) [t (1) g 24 (2) vl ©. (D) [ (1) Wi 21 (2) 3y 6.
075. g u2 g {2 gl uddl vu-dll sende alorug un g 8 ?

(A) Y sanse (B) ¥t clids

(C) Y AsAUA (D) Bur Q4 visunt €l
076. s Uigsiil si-l uedl e as Mu e ?

(A) diy (B) Wil

(C) As (D) 603

077. 2501 A2 sAL L W18 ALi[Bd A2 69 ?

(A) 511 (B) @™
(C) 2w D) us
078. A1 1959 Ui tuRaHi 2eldlovt el agud suidfl a4 ¢dl ?
(A) el (B) {15l
(C) sasudl (D) SloEil
079.  i-ALsiAA (Anthrocosis) AL A WS u-uefl a9 ?
(A) 2¢54 WAl (B) [Alas
(C) AA0I21A-U did (D) sia-u seli-l gy
080.  SIM Card Hi SIM 124 ?
(A) Subscriber Indentity Module (B) Subscriber Integrated Module
(C) System Indentification Module (D) Subscriber Individual Module
081.  ou (el 2y Sl 53 edl ?
(A) A%+ (B) Gl54 da 5343
(C) =42 (D) HRsil
082.  uadwurl [RuHi-l Adras 2112 A1 6 4l AG-0 10 @ YL 8RS [yl tali-dl Raila
Al seen 3o € ?
(A) 45 (B) 50
(C) 55 (D) 40
083.  ulRs dze Ao 2 3¢y, 2016 AR W2 sl Al ~yran s s2dl il oA ?
(A) 40 WS 51 (B) 45 WS 51
(C) 55 WS sl (D) 50 WS 51
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084.

08s.

086.

087.

088.

089.

090.

091.

auRaAl Aluad 72l Alar sidells Sasdls s12 A WA 56 Ae gi1 [AsAld sami 2udl © ?
(A) ISRO (Indian Space Research Organisation)

(B) DRDO (Defence Research and Development Organisation)

(C) CSIR (Council of Scientific and Industrial Research)

(D) Bu2 U4 isumt .
‘5’ il v’ Algl 0 AN iy [dseu uie sa.
el - 5 gl -
() [ads onu-st (1) x4, 3¢ 6l
(i) . vl (2) w8, /HA Sw33l Jadui-2 oivs 2iis Sl
i) 2Pl @isil (3) 2Usolsydla swRser, [Au s
(iv) HISHE Y5l 4) g, aurdl A 222

A) ()-@), (i) -@3), (i) - (2), (@(v)-(@)
B) (@) -3), () -@), (i) - @), (@(v)-(2)
©) (-, (i)-@3), (i)- (1), (vV)-(Q2)
D) @) -(2), (i) - (3), (i) - @), (v)-(1)
B2 s (Bay of Bengal initiative for Multi sectoral Technical and Economic Cooperation) seal
gl Ay 9 ?
(A) Ui (B) Ald
(C) 2us (D) -a
48 WL IRl AidRAAU [Ben aHiRle, 2017 Ui A8 (e vl a8l HYR YesR 58 [Faud wod
Q7
(A) 120 ofl2a uR [@lAe2 (B) v~y [Brur w12
(C) s1ua (D) o
Q2 [Qannl [Qrueumi a4 diou [ase vaie s
(1) 84 Alus Galfdl AHA M1RA 2 HR S gL AYSd U sAUNT 2udd e,
(2) U AHAAT, HIRAHL UAHAUR AU AU 8.

(A) [ (1) W 29 (2) vl ©. (B) [t (1) viig 21 (2) Y 8.
(C) bin [t i 6. (D) ti [t vz 69,

A YUlaREL Y2512, 2017 dl DA UA 54 u-Hirlld sl 2uda 6 ?

(A) A4l Selloncu (B) U5 cA AHAIRL

(C) 3L 2nluguR (D) 2ugldin Al

58 AU UHIR g1 AL 50 Guor-il o [BHarl ygasll w2 “euaid ¢t dlau” a3 sauMi
244 8 ?

(A) Griruga (B) BIRviS

(©) B (D) HEAUSA

(A you udlaile 24214, a2 U AAA sUL 0 Ui 8 ?
[NRIEE] (B) vl

(C) [ (D) 21581
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092.

093.

094.

09s.

096.

097.

098.

099.

100.
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101. Which one among the following is the raw material for the manufacture of caprolactum, obtained

from .......... ?
(A) Pyridine (B) Naphthalene
(C) Benzene (D) Phenol

102. Chemically neoprene is refered as —
(A) Styrene Butadiene Rubber (SBR) (B) Polyurethane
(C) Polychloroprens (D) Polybutadiene

103. Which on among the following is used as a catalyst in low pressure zeigler process for the
manufacture at polyethene ?

(A) Aluminium triethyl combined and titanium chloride

(B) Fe
(©) V205
(D) Ni
104. Which one of the following is a co-polymer ?
(A) Bakelite (B) Teflon
(C) Polythene (D) PVC
105. Bakelite is produced by condensation polymerisation of .......... ?
(A) Urea & Formaldehyde (B) Phenol & Acetaldehyde
(C) Phenol & Formaldehyde (D) Propylene
106. Which one of the following is an example of elastomer ?
(A) Polystyrene (B) Urea formaldehyde
(C) Phenol formaldehyde (D) Thiokol

107. Which one among the following rubber is used for preparation of tubeless tyre, a co-polymer of
isoprene & isobutylene ?

(A) Silicone (B) Nitrile

(C) Neoprene (D) Butyl
108. Among the following, whick one is referred as mastication of rubber ?

(A) Depression at its freezing point (B) Improving its curing rate

(C) Its softening (D) A treatment to retard its deterioration
109. Which one of the following is a co-polymer of vinyl and vinylidene ?

(A) Orlon (B) Saran

(C) Decron (D) Terelene
110. Condensation of Phosgene and Bisphenol-A gives ..........

(A) Polysulphone (B) Polyester

(C) Polyurethane (D) Polycarbonate
111. Anti-tacking properties is highest in ..........

(A) Phenolic resin (B) Epoxy resin

(C) Alkyd resin (D) Melamine formaldehyde resin
112. Which one of the following is an example at thermosetting polymer ?

(A) Phenolic resin (B) Polystyrene

(C) Polyethylene (D) Polyvinyl chloride
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113. ... is not an example at bio-polymer.

(A) Nucleic acid (B) Starch
(C) Rubber (D) Protiens
114. Natural silk is a polymer of ..........
(A) Nucleotide (B) Adipic acid
(C) Nucleoside (D) Amino acid
115. Which one among the following is not a reinforcing fibre for plastic ?
(A) Polymeric fibres (B) Carbon fibres
(O) Glass fibres (D) Nichrome fibres
116. Correct IUPAC name of Isoprene is ..........
(A) 2-methyl -1, 3-butadiens (B) 1, 3-Butadiens
(O) 1, 2 - Butadiens (D) 1, 3 - Pentadiene
117. Raw materials for the production of styrene are ...
(A) Toluene and propylene (B) Benzene and ethelene
(C) m-xylene and ethylene (D) Toluene and ethanol
118. An alkyd resin, Glyptal polymer is obtained by the reaction at glycerol with
(A) Acetic acid (B) Malonic acid
(C) Maleic acid (D) Phthalic acid
119. Gas phase oxidation at maleic anhydride produces ..........
(A) Naphthalene (B) Isobutene
(C) n-Butenes (D) 0-Xylene
120. Which among the following is the measure of its reid vapour pressure
(A) Cloud point (B) Vapour locking tendency
(C) Carbon residue (D) Pour point
121, .. is petrolatum

(A) Diethyl ether

(B) Petroleum ether

(C) Petroleum coke

(D) Mixture of microcrystalline wax in viscous hydrocarbon liquids

122. Reforming is mainly referred as -

(A) Hydrogenation of naphthalenes (B) Dehydrogenation of naphthalenes
(C) Saturation of olefins (D) Hydrocracking of paraffins
123, ... column is referred as the most widely used crude topping column in refineries
(A) Pefforated plate (B) Bubble-cap
(C) Packed bed (D) Fluidised bed
124. Highest gum forming tendency in gasoline is of ...
(A) Naphthalenes (B) Diolefins
(C) Aromatics (D) Paraffins
125. Which one of the following hydrocarbons has the poorest oxidation stability ?
(A) Aromatics (B) Paraffin
(C) Olefin (D) Naphthene
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126. Flash point (< 50° C) in gasoline is determined by ....

(A) Saybolt chromometer (B) Carl-fischer apparatus
(C) Abel apparatus (D) Pensky-Marten’s apparatus
127. Which among the following is the parameter for grading paraffin waxes ?
(A) Melting point (B) Viscosity
(C) Penetration number (D) Specific gravity
128. Which one among the following has the highest Viscosity at a given temperature ?
(A) Fuel oil (B) Petrol
(C) Naphtha (D) Light diesel oil
129. Indian oil fields produces cruid oil are predominantly .......... in nature.
(A) Mixed base (B) Asphaltic
(C) Naphthenic (D) Paraffinic
130. Sulphur in cruid oil is mainly determined by which of the following methods ?
(A) Bomb calorimeter (B) Duma
(O) Kjeldahl (D) Junkar’s calorimeter
131. Why detergent is added as an addictive in engine lubricating oil ?
(A) To reduce deposit formation (B) To increase oxidation stability
(C) To prevent rusting (D) To keep contaminants in suspension

132. Which one of the following is oxygenated compound ?

(A) Indole (B) Methyl mercaptan
(C) Pymole (D) Naphthenic acid
133. Mercaptans are .......... among the following.
(A) Not corrosive (B) Decrease the octane number of gasoline
(C) Desirable in gasoline (D) Low boiling oxygen compounds
134. Aove 50° C, flash point is determined by ....
(A) Lovibond tintometer (B) Saybolt chromometer
(C) Abel apparatus (D) Pensky-Martens apparatus

135. Which among the following is correct for fire point at a gives sample ?
(A) It is equal to flash point (B) It is less than the flash point
(C) It is equal to or less than the flash point (D) It is higher than the flash point
136. Which among the following petroleum products has minimum carbon-hydrogen ratio (by weight)

(A) Furnase Oil (B) Aviation Tarbine Fuel (ATF)
(C) Gasoline (D) High speed diesel oil

137. Which one among the following has maximum Viscosity at a given temperature ?
(A) Kerosine (B) Furnace oil
(C) High speed diesel oil (D) Motor spirit

138. LPG is a mixture of ...
(A) Methane and Carbon dioxide
(B) Methene and hydrogen
(C) Saturated and unsaturated hydrocarbon in C4 and C; range
(D) Saturated and unsaturated hydrocarbon in C; and C4 range

ABY-A] 15 P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


139. Motor fuel gasoline is composed of .....

(A) Hexane through decane (B) Ethane throgh decane
(C) Methane through decane (D) Propane through decane
140. Which one among the following is the popular anti-knock agent ?
(A) CH;SH (B) Pb(C,Hs),
(C) PbC,H; (D) C,HsSH
141. Maximum octane number among the following hydrocarbon is of ....
(A) Cyclohexane (B) Isohexane
(C) Hexane (D) Benzene
142. Dielectric constant of petroleum product is .....
(A) Zero (B) Equal to that of porcelain
(C) More than that of porcelain (D) Less than that of porcelain
143. Chemical formula of normal cetane is ....
(A) Cy4H3o (B) CyHzq
(C) Ci2Hy6 (D) Cy3H3g

144. Viscosity index of an oil indicates ...
(A) The viscosity at 100° F
(B) The rate of change of viscosity with temperature
(C) The rate of change of viscosity with pressure
(D) The rate of change of specific gravity with pressure

145. Which among the following solvents are used to extract aromatics from lube distillates and
deasphalted oil ?

(A) Furfural (B) Aluminium chloride

(C) Methyl Isobutyl Ketone (MIBK) (D) Methyl Ethyl Ketone (MEK)
146. Chemical formula of sodium plumbite is ....

(A) Na,Pbo (B) Na,PbO,

(C) NaPbo, (D) Na,PbO

147. Which one of the following petroleum is the most suitable for the preparation of Bitumen
(A) Paraffin
(B) Bitumen can not be manufactured from crude petrolium
(C) Naphthene
(D) Intermediate

148. Which one of the following monometallic catalyst is used in the catalytic reforming of naphthas

(A) V,05 (B) Ni
(C) Pt (D) Fe
149. Olefin reacts with .......... in alkylation processes.
(A) Aromatics (B) Iso Parafins
(C) Normal Parafins (D) Naphthenes
150. Paraffin waxes are graded by its ....
(A) Ductility (B) Specific gravity
(C) Melting point (D) Viscosity
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151.

152.

153.

154.

155.

156.

157.

158.

159.

The fall or rise of a liquid in a capillary tube is caused by ...

(A) Viscosity of liquid (B) Thermal conductivity of liquid
(C) Sensity of liquid (D) Surface tension of liquid

If 5.6 m? of oil weighs 46800 N, its density in kg/m? is equal to ...

(A) 8357 (B) 0.852

(C) 852 (D) 836

For a sphere falling in the constant drag co-efficient regime, its terminal velocity deepends on its
diameter (d) as ...

1
@ - B) Jd
(C) & D) d

For laminar flow of a shear-thinning liquid in pipe, if the volumatric flow rate is doubled, the
pressure gradient will increase by a factor at

(A)<2 (B)>2

1
©)2 ®) 5

For turbulent flow of an incompressible fluid through a pipe, the flow rate Q is proportional to
(AP)", where AP is the pressure drop. The value of exponent n is

A0 B)<1
O)=>1 D)1
Weber number can be used to estimate ....

(A) Ratio of inertial and centrifugal forces

(B) Ratio at pressure and surface tension forces

(C) Ratio of inertial and surface tension forces

(D) Ratio of inertial and compressibility forces

A globe value is most suitable for application in which ....
(A) One way flow is required

(B) Flow control is required

(C) The valve is required to be either fully open or fully closed
(D) The fluid contains dispersed particles

To increase the capacity of a commercial packed bed adsorber, the volumetric flow rate at gas
entering is increased by 20%. The ratio of pressure drops (new to old) will be ...

(A) 1.73 (B) 1.09
(C) 1.44 (D) 1.2

The equilibrium position of the float in a rotameter is determined by the balance of three forces.
These are ....

(A) Buoyancy, gravity and centrifugal forces
(B) Pressure, gravity and centrifugal forces
(C) Buoyancy, drag and gravity forces

(D) Buoyancy, drag and centrifugal forces
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160.

161.

162.

163.

164.

165.

166.

167.

168.

A fluid is defined as ....
(A) Is a substance that does not permanently resist distortion

(B) Is called incompressible if its viscosity is little affected by moderate changes in temperature
and pressure

(O) Is called ideal if its density is zero
(D) In equilibrium is not free from shear stresses

Rotary pump is an example of which are of the following ?

(A) Piston pump (B) Diaphragm pump

(C) Plunger pump (D) Gear pump
Manometers are used to measure ....

(A) Pressure Difference (B) Atmospheric Pressure
(C) Viscosity (D) Flow rate

Bond’s law for crushing and grinding states that the work required to from particles at size Dp
from very large feed is proportional to ....

1
(A) \Dp ®) pp

(C) D’p (D) Dp

The work required for crushing of solid is proportional to the new surface created is known
as ...

(A) Bond’s law (B) Janssen’s law
(O) Kick’s law (D) Rittinger’s law

Arrange the following size reduction equipments in the decreasing order of the average particle
size produced by each of them.

(A) Fluid energy mills, Ball mills, Jaw crushers

(B) Ball mills, Jaw crushers, Fluid energy mills

(C) Jaw crushers, Ball mills, Fluid energy mills

(D) Fluid energy mills, Jaw crushers, Ball mills

In a disintegrator the size reduction is effected by ...

(A) cutting action (B) compression only

(C) attrition only (D) compression, impact and shear
The surface area of a unit mass of particles ...

(A) Increases as the particle size is reduced

(B) Decreases as the particle size is reduced

(C) Decreases as the square root of the equivalent diameter of particle

(D) Remains constant as the particle size to reduced

The co-efficient of friction betwen two layers of solid particles is equal to ...
(A) The ratio of applied pressure and the normal pressure

(B) The ratio of normal pressure and applied pressure

(C) The tangent of the angle of internal friction of the particles

(D) The tangent of the angle of repose of the particles
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169.

170.

171.

172.

173.

174.

175.

176.

177.

In a ball mill forces acting on the ball are ...

(A) Gravitational and centrifugal forces

(B) Gravitational and drag forces

(C) Gravitationa, drag and centrifugal forces

(D) Drag and centrifugal forces

Plate and frame filter press is classified as ...

(A) Discontinuous vacuum filter (B) Continuous vacuum filter
(C) Discontinuous pressure filter (D) Continuous pressure filter
The Grashof number is defined as the ratio of

(A) Buoyancy to viscous forces (B) Buoyancy to surface tension forces
(C) Buoyancy to inertial forces (D) Inertial to viscous forces

Fresh orange juice contains 12% (by weight) solid and the rest water. 90% of the fresh juice is
sent to an evaporator to remove water and subsequently mixed with remaining 10% of fresh
juice. The resultant product contains 40% solids. The kg of water removed from 1 kg fresh juice
is ...

(A) 0.6 (B) 0.7
©) 0.5 (D) 0.4

For condensation of pure vapours, if the heat transfer co-efficients in filmwise and dropwise
condensation are respectively 4f and hd, then

(A) hf > hd (B) Af could be greater or smaller than hd
(C) hf=hd (D) hf <hd

The non-dimentional temperature gradient in a liquid at the wall of a pipe is refered as ....
(A) The prandtl number (B) The schmidt number

(C) The nusselt number (D) The heat flux

A black body of finite dimensions at 1000 Kk is inserted in to an infinite medium at 300 k. Given
Stefan Boltzmann constant is 1.8 x 108 w/m?k?, the radiative heat transfer co-efficient is ....

(A) 1.8 (B) 25.7

(0)18.0 (D) 2.6

According to Duhring’s rule, the boiling point of a given solution is ....

(A) An exponential function of the boiling point of pure water at the same pressure.
(B) A linear function of the concentration of the solute.

(O) A linear function of the pressure.

(D) A linear function of the boiling point of pure water at the same pressure.

For a condenser the heat-exchanger effectiveness (¢) and the number of transfer units (V) are
related by ....

N
A 1 eV (B) N 1
eN
© [ oV (D) IN1 N
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178.

179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

Near the entrance of a piped where fluid is being heated, the temperature profile is not fully
developed and the local heat-transfer co-efficient is ....

(A) Zero

(B) Infinite

(C) Greater than the heat transfer co-efficient for fully developed turbulent flow

(D) Smaller than the heat transfer co-efficient for fully developed turbulent flow

A black body does not ....

(A) Follow Stefan-Boltzmann’s law (B) Reflect radiation

(C) Emit radiation (D) Absorb ratidation

Which one of the following tube configurations in a heat exchanger results in the maximum heat
transfer rate ?

(A) Rectangular pitch (B) Rhombus pitch

(C) Square pitch (D) Triangular pitch

Assume that benzene is immisible in water. The normal boiling point of benzene and water are

80.1° C and 100° C respectively. At a pressure of 1 atm, the boiling point of a mixture of benzene
and water will be ....

(A) less than 80.1° C (B) Greater than 80.1° C but less than 100° C
(©)80.1° C (D) 100° C

The recovery of penicillin from the acidified fermentation broth is done by ....

(A) Liquid extraction (B) Absorption

(C) Evaporation (D) Distillation

Molecular diffusivity of a liquid ....

(A) Decreases with temperature (B) Is independent of temperature

(C) Increases with temperature (D) May increase or decrease with temperature

The number of ideal plates required for specified separation in a plate column can be calculated
by the use of ....

(A) Underwood eqation (B) Murphree equation

(C) Kremser-Brown-Souders equation (D) Rayleigh equation

In absorber the equilibrium curve is always ....

(A) Above the operating line (B) A straight line

(C) Below the operating line (D) Parallel to the operating line

A component of gas mixture absorbed in a solvent is usually desorbed to reuse the solvent. Two
methods used to desorb the absorbed components are (a) and (b)

(A) (a) pressure increase (b) temperature reduction

(B) (a) pressure reduction (b) temperature increase

(C) (a) pressure reduction (b) temperature reduction

(D) (a) pressure increase (b) temperature increase

Adiabatic saturation process of atomospheric air is a process of constant ....

(A) Dew-point temperature (B) Dry-bulb temperature
(C) Relative humidity (D) Wet-bulb temperature
Lewis number = 1 signifies ....

(A) Ny = Nge (B) Nyt = Ny

(C) Np, = Npg, (D) Np, = Ny,
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189.

190.

191.

192.

193.

194.

195.

196.

If the McCabe-Thiele assumptions are valid, the molal flow rates of liquid stream in the enriching
and stripping sections are equal for ....

(A) Saturated liquid feed (B) Superheated vapour feed
(C) Subcooled liquid feed (D) Saturated vapour feed

Which one of the following method will produce distillate richer in more volatile component
from the same binary feed ?

(A) Differential distillation

(B) Both will produce distillate of the same average composition

(C) Single stage flash vaporisation for « > 1 and differential distillation for 1 < oc <2
(D) Single stage flash vaporisation

In azeotropic distillation the third component is added ....

(A) To decrease the value of relative volatility of original components.

(B) To change the value of the vaporization equilibrium constant of the two components
(C) To form another azeotrope with one of the components

(D) To increase the value of relative volatility of the original two components

All crystals of a definite substance ....

(A) Have the same sizes of the faces as well as the same interfacial angles

(B) Do not have the same interfacial angles

(C) Have the same interfacial angles

(D) Have the same sizes of the faces

Knudsen diffusion co-efficient .....

(A) Is independent of temperature and pressure

(B) Depends on temperature and pressure

(C) Depends on temperature but independent of pressure

(D) Depends on pressure but independent on temperature

Overall tray efficientcy is defined as ....

(A) The ratio of the number of ideal trays required to the number of real trays required
(B) The rati of the number of real trays required to the number of ideal trays required
(C) The ratio of the number of ideal trays required to the number of overall gas transfer units
(D) The ratio of number of overall gas transfer units to the number of ideal trays required

A large effect of temperature is observed on overall mass transfer co-efficient. This indicates
that ....

(A) No resistance in liquid phase (B) More resistance in liquid phase

(C) Appriciable resistance is both phases (D) Less resistance in liquid phase

Stripping factor is definded as ....

(A) The ratio of slope of the equilibrium curve to the slope of the operating line.

(B) The product of slopes of the operating line and equilibrium curve

(C) The reciprocal of the product of the slopes of the opertating line and equilibrium curve

(D) The ratio of the slope of the operating line to the slope of equilibrium curve
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197. A react A—— B is conducted in an isothermal batch reactor. If the conversion of A increases
linearly with holding time, then the order of reaction will be ....

(A) 1.5 (B) 2
O1 D) 0

198. For Zen order solid catalysed reaction having a Thiele modulus equal to one, the value of
effectiveness factor is ....

2

Ael Be
()—e1 ()ez1
&) D)1
()e21 (D)

199. The units of frequency factor in the Arrhenius equation ....
(A) Depend on the temperature and pressure of the reaction
(B) Depend on order of reaction
(C) Are the same as those of the rate constant
(D) Are cycles per unit time

200. A first order liquid phase reaction is carried out in an ideal continuous stirred tank reactor. If a
part of the outlet stream is recycled back to the reactor, the conversion will ....

(A) Decrease

(B) Increase

(C) May increase or decrease depending on the value of the recycle ratio
(D) Remain unchanged

201. Which one of the following ecosystem has the highest gross primary productivity ?

(A) Mangroves (B) Rain forest
(O) Grassland (D) Coral reef
202. Which one of the following is the most stable ecosystem ?
(A) Mountain (B) Ocean
(C) Forest (D) Desert
203. Which one of the following is a prime lake pollutant ?
(A) Iodine (B) Posphorous
(C) Sodium (D) Potasium

204. The rise in the level of a liquid in a tube is 4. what will be rise in the level of the same amount of
liquid is pourd in to a tube of half the diameter ?

h
(A) h ®) 5

(&)X (D) 2h

205. In which types of fluids it is observed that momentum transfer dominates cohesive forces will
increase in temperature and hence viscosity increase ...

(A) colloids (B) solids
(O) liquids (D) gases
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206.

207.

208.

209.

210.

211.

212.

213.

214.

215.

The absolute entropy is zero for all perfect crystalline substances at absolute zero temperature.
The statement is known as ...

(A) The first law of thermodynamics (B) The zeroth law of thermodynamics
(C) The second law of thermodynamics (D) The third law of thermodynamics

Heat is the amount of 8 KJ is added to a closed while its internal energy decreases by 12 KJ,
Work done by the system is equal to ....

(A)-20KJ (B) 20 KJ

(C)-4KJ (D)4 KJ

For an ideal gas, C; and C, are functions at temperature only and the difference C;, — Cy ....
(A) Is always equal to R (Universal gas constent)

(B) Is always equal to zero

(C) Varies linearly with temperature

(D) Varies noninearly with temperature

For any adiabatic process,

(A)AU=0 (B) AU, Q and W all are zero

O©OwW=0 D) Q=0

Which one of the following statement is correct ?

(A) The mechanical work done by a system is always equal to  pdv

(B) A process is irreversible as long as As for the system is greater than zero
(C) Pressure is an extensive property
(D) Work done by a gas during free expansion is infinite

The latent heat of vaporisation of water is 2257 KJ/Kg at 100° C. The critical temperature of
water is 647.1 K. The latent heat of vaporisation of water at 647.1 K is qual to ....

(A) 3915.6 KJ/Kg (B) 0 KJ/Kg
(0) 1301 KJ/Kg (D) 2257 KJ/Kg
The kinetic energy of gas molecules is zero at ....

(A)273° C (B) 100° C
O©o°C (D)-273°C
The shape of T — S diagram for carnot cycle is ....

(A) Circle (B) Trapezoid
(C) Rhombus (D) Rectangle

If the door of a running refrigerator inside a room is left open, then ....

(A) The room will be cooled to the temperature inside the refrigerator

(B) The temperature of the room will be unaffected

(C) The room will be cooled slightly

(D) The room will be warmed up gradually

Which one of the following for a pure substance does not change during condensation ?
(A) Specific Gibbs energy (B) Specific internal energy

(C) Specific volume (D) Specific enthalpy

ABY-A] 23 P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


216.

217.

218.

219.

220.

221.

222.

223.

224.

225.

The number of degrees of freedom for a mixture of ice and water (liquid) is ....
A)1 (B)0
©)3 D) 2

Which one of the following quantities for an incompressible fluid is a function of both temperature
and pressure ?

(A) Entropy (B) Specific heat at constant pressure
(C) Enthalpy (D) Internal energy

An ideal gas is a model gas comprised of ....

(A) Molecules interact of zero volume that do not interact

(B) Molecules of finite volume that do not interact

(C) Molucules of zero volume that do interact

(D) Molecules of finite volume that do interact

Equilibrium conversion of an endothermic reversible gas phase reaction .......... increases in
temperature.

(A) Increase with (B) Decrease with
(C) Passes through maximum (D) Independent of
For an exothermic reaction, the equilibrium constant ...

(A) Decreases with increase in temperature

(B) Increases linearly with increase in temperature

(O) Is independent of temperature

(D) Increases with increase in temperature

Which one of the following partial molar properties of species  in an ideal gas mixture at the
mixture temperature 7 and pressure P is less than the molar property of pure species i at the
same 7 and P ?

(A) Partial molar volume (B) Partial molar enthalpy

(C) Partial molar entropy (D) Partial molar Gibbs energy
The fugacity of an ideal gas is equal to its ....

(A) Volume (B) Pressure

(C) Temperature (D) Density

Which global conference was the first step toward a global agreement on green house gas emission
reduction ?

(A) The Kyto Protocol, 1997 (B) The Montreal Protocol, 1987

(C) The Viena Convention, 1985 (D) The Earth Summit in Rio, 1992
Which one of the following gases is not considered to be a green house gas (CHG) ?
(A) Water vapour (B) Chlorofluoro carbons

(C) Nitrogen (D) Methane

Which one of the following is used for a technology which renders seeds sterile after the first
generation ?

(A) Sterile Technology (B) Terminator Technology
(O) Killer Technology (D) Saver Technology
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226.

227.

228.

229.

230.

231.

232.

233.

234.

23S.

236.

Biotechnology can be a powerful tool for environmental management. Research is being done to
use biotechnology to help clean ..........

(A) Oil pollution in water (B) Rivers

(C) Smog (D) Pollution in the air

What is the result when industrial chemicals combine with condensing water vapour ?

(A) Acid rain (B) Global warming

(C) Base rain (D) Green house effect

The use of chlorine to bleach paper has been crititicised as being highly polluting, but what
environmental drawback does “Totally chlorine-free” paper have because .....

(A) It can only be made from certain types of trees

(B) It takes twice as much water to make it

(C) It uses different chemicals, but they create similar levels of pollution
(D) It can’t be made using recycled paper

The Ganga Action Plan (GAP) - a project to clean up the pollution waters of the Ganga - Plans
to intercept and divert municipal sewage falling in to river from 25 large urban conglomerates
in three states whose names are .....

(A) Himachal Pradesh, Uttar Pradesh and Haryana

(B) Orissa, Bihar and West Bengal

(C) Uttar Pradesh, Haryana and Punjab

(D) Uttar Pradesh, Bihar and West Bengal

Which of the following item is not recyclable ?

(A) Plastic bags (B) Glass bottles

(C) Old medicines (D) News paper

Which one of the most common non-commercial biological fuel is in a large number of developing
countries ?

(A) Fuelwood (B) Crop residue

(C) Animal dung (D) Coal

The nucleus of an atom of radioactive I-131 used in thyroid imaging, which contains ....
(A) 53 electrons and 78 neutrons (B) 53 neutrons and 78 protons
(C) 53 protons and 75 neutrons (D) 53 protons and 78 neutrons
Which one of the following is not a biomass ?

(A) Sewage (B) Plastic waste

(C) Agriculture waste (D) Garbage

Which one of the following is the primary source of food for marine life ?
(A) Zooplankton (B) Grass

(C) Phytoplankton (D) Seaweed

The amount of oil that may become available for use is called oil ....

(A) Reservoirs (B) Resources

(C) Traps (D) Reserves

A body which allows the short wave length incoming solar radiation to enter in, but does not
allow long wave length outgoing infrared radiation to escape out is called the ....

(A) Green house (B) Global warming
(C) Atmospheric effect (D) Ionosphere
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237.

238.

239.

240.

241.

242.

243.

244.

245.

246.

247.

248.

High concentration of carcinogenic hydrocarbon pollutants in atmospheric air causes .....
(A) Silicosis (B) Cancer

(C) Respiratory diseases (D) Reduces crop yield

Presence of high concentration of ozone and smog in atmospheric air causes the .....

(A) Cracking of rubber products

(B) Fading a dye on textile

(C) Damage of electrical insulator on high tension powe line

(D) Embrittlement and decrease of folding resistance of paper

While smoke coming out of the chimney of a furnace indicates the use of .....
(A) Low excess air (B) Gaseous fuel in furnace

(O) Liquid fuel in the furnace (D) Very high excess air

Which one of the following is not a chemical coagulant ?

(A) Hydrated lime (B) Ferrous sulphate

(C) Alluminium sulphate (D) Chloramine

The ratio of oxygen available to the oxyten required for stabilization of sewage is called ....
(A) Biological Oxygen Demand (BOD) (B) Relative stability

(C) Bacterial Stability Factor (BSF) (D) Oxygen ion concentration
“Pneumoconiosis” is a disease caused by the inhalation of .......... dust.

(A) Uranium ore (B) Iron ore

(C) Lime (D) Coal

Color test of water is done with an instrument called ....

(A) Turbidimeter (B) Tinctometer

(C) Colorimeter (D) Electro-chemical cell

Main pollutant in the manufacturing of various superphosphates are the .......... compounds.
(A) Phosphorous (B) Sulphur

(C) Fluorine (D) Chlorine

Reaction with ultraviolet light is responsible for the production of ....

(A) Nitrogen dioxide (B) Sulphure trioxide

(C) Ozone (D) Smog

In Clean Development Mehanism (CDM), terminology, CER means .....

(A) Carbon Emmission Reduction (B) Certified Emission Reduction
(C) Carbon Emmission Rating (D) Clean Environment Rating

Aerosol is ....

(A) Carbon particles of microscopic size

(B) Dispersion of small solid/liquid particles in gaseous media
(C) Finely devided ash particles

(D) Diffused liquid particles

Dissolved oxygen content in river / water streams is .....
(A) Maximum at midnight (B) Same throughout the day
(C) Minimum at noon (D) Maximum at noon
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249, Imhoff Cone is used to measure the total .......... content in sewage.

(A) Settleable solids (B) Inorganic solids
(C) Non-settleable solilds (D) Organic solids
250. The .......... plume is chracteristic of neutral or slightly stable atmospheric conditions.
(A) Coning (B) Looping
(C) Lofting (D) Fanning
251. Flame Ionisation Detector (FID) is used for the determination of .......... present in the polluted
air.
(A) Nitrogen Oxides (NOx) (B) Hydrocarbons (HC)
(C) Chlorine (D) Carbon monoxide (CO)
252. Which one of the following does not contain mercury ?
(A) Computer discs (B) Blinking light in sneakers
(C) Fluorescent light bulbs (D) Clinical thermometer
253. If the waste materials contaminate source of drinking water, spreads which of the following
disease ?
(A) Malaria (B) Typhoid
(C) Scurvy (D) Anemia
254. Workers working in .......... industry are liable to suffer from silicosis disease.
(A) Sugar (B) Storage battery
(C) Textile (D) Stone crushing
255. Which one of the following organisms presence is an indicator of sewage pollution ?
(A) Escherichia coli (B) Volvox
(C) Spirogyra (D) Aerobacter aerogene
256. Which one of the following is not a used for dechlorination of water ?
(A) Sulpur dioxide (B) Sodium thiosulphate
(C) Chloramines (D) Sodium sulphate
257. Dried sewage after treatment is used as .....
(A) Building material (B) Chemical for lowering BOD
(O) Fertilizer (D) Base material for paints
258. Bacteria which use CO, as a source of carbon are known as .....
(A) Heterotrophic (B) Autotrophic
(C) Anaerobic (D) Microbacteria

259. Large water projects that slow the flow of rivers may show many economic benefits but such
projects in warm climates can also lead to ...

(A) River blindness (B) Malaria

(C) Valley fever (D) Schistosomiasis
260. Which one of the following nitrogen oxides is netural in character ?

(A) N0 (B) N,O;3

(C) N;O5 (D) N,O4
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261.

262.

263.

264.

265.

266.

267.

268.

269.

270.

271.

‘Lang factor’ is defined as the ratio of the capital investment to delivered the cost at major
equipmens. The value of lang factor for fixed capital investment, for a solid-fluid processing
chemical plant ranges from .....

(A) 6.2 to 6.4 (B) 2.5 to 2.7
(C)1.2 to 1.4 (D) 4.2 to 4.4

The ‘total capital investment’ for a chemical process plant comprises of the fixed capital
investment and the ....

(A) Working capital (B) Direct production cost

(C) Indirect production coast (D) Overhead cost

Effective and nominal interest rates are equal, when interest is compounded .....

(A) Monthly (B) Half-yearly

(C) Fortnightly (D) Annually

A balance sheet for an industrial concern shows ....

(A) Only current assets (B) Only fixed assets

(C) Current & fixed assests both (D) The financial condition at any given time

Which one of the following is a component of working capital investment ?

(A) Depreciation (B) Process equipments

(C) Utilities (D) Maintenance and repair inventory
Scheduling provides information about ....

(A) Time of starting job and how much work should be completed during a particular period
(B) Time of completion of job

(C) Proper utilisation of machines

(D) To minimise idle time for machines

The value of property decreases .......... with time in straight line method of determining
depreciation.

(A) Exponentially (B) Logarithmically

(C) Linearly (D) Non-linearly

In financial accounting of a chemical plant, which of the following relationship is in valid ?
(A) Assets = Capital (B) Total Income = Costs + Profits

(C) Assets = Equities (D) Assets = Liabilities + Networth
‘Six-tenth factor’ rule is used for estimating ....

(A) Utility cost (B) Cost of piping

(C) Equipment installation cost (D) Equipment cost by scaling

Which one of the following taxes are based on gross earnings ?

(A) Capital gain (B) Excise

(C) Property (D) Income

Effluent treatment cost in a chemical plant is categorised as the .......... cost.

(A) Capital (B) Overhead

(C) Utilities (D) Fixed
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272.

273.

274.

275.

276.

2717.

278.

279.

280.

281.

282.

Which one of the following is not a mathematical method for evaluation of profitability of a
chemical process plant ?

(A) Discounted cash flow based on full life performance

(B) Cash reserve

(C) Rate of return on investment

(D) Pay out period

Which one of the following is not a component of the working capital for a chemical process
plant ?

(A) Minimum cash reserve (B) In process inventory

(C) Product inventory (D) Storage facilities

A present sum of Rs. 100 at the end of one year, with half yearly rate of interest at 10% will be
Rs. ..coeueee

(A) 91 (B) 110

©)97 D) 121

For a typical project, the cumulative cash flow is zero at the ....

(A) Start up (B) Break even point

(C) End of the project life (D) End of the design stage

The total investment of a project is Rs. 10 lakhs and the annual profit is 1.5 lakhs. If the project
life is 10 years, then the simple rate of return of investment is ....

(A) 10% (B)1.5%

(O)15% (D) 150%

What is gross sales in laks of chemical plant having turn over ratio of unity and working capital
of Rs. 8 lakhs, if the total capital investment is 50 lakhs.

(A) 42 B) 21

(C) 32 (D) 48

For a project to be viable, return on investment (Rol) must always be .......... interest ratio.
(A) Equal to (B) Higher than

(C) Lower than (D) No relation with interest ratio

Which one of the following is not a financial indicator ?
(A) Critical Path Method (CPM) (B) Net Present Value (NPV)
(C) Return on Investment (Rol) (D) Internal Rate of Return (IRR)

For a solid processing plant, the delivered equipment cost is Rs. 10 lakhs. Using lang multiplication
method, the total capital investment in lakhs of rupees is ....

(A) 200 (B) 57

(C) 100 (D) 46

The Graetz number is concerned with the ....

(A) Heat transfer in turbulent flow (B) Heat transfer in laminar flow

(C) Absorption with chemical reaction (D) Mass transfer betwen a gas and a liquid

The economic life of a small chemical plant is ....
(A) Always equal to a large chemical plant

(B) Usually much less than a large chemical plant
(C) Usually more than a large chemical plant

(D) None of the above
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283.

284.

28S.

286.

287.

288.

289.

290.

291.

Select the correct statement -

(A) Payout period is not importent for business decision making

(B) Payout period is affected by the variotions in earnings after the recovery of the investment
(C) Payout period and economic life of a project are the same

(D) Payout period is the length of time over which the earning on a project equal the investment

Which one of the following method result in book values greater than those obtained with the
straitght-line method ?

(A) Sinking fund method (B) Sum-of-the-years - digits method
(C) Declining-balance method (D) Multiple straight-line method
Equilibrium state is ....

(A) Static

(B) Dynamic

(C) Sometimes static and sometimes dynamic
(D) Neither dynamic nor static

The space-velocity is the proper performance measure of flow reactors. The space-velocity has
the units of ....

(A) time-! (B) velocity !
(C) time (D) velocity

For identical feed composition, flow rate, conversion and for all positive reaction orders, the
ratio of volumes of the mixed reactor to the plug flow reactor is ....

(A) Always greater than one (B) Always lesser than one

(C) Always one (D) Equal to the order of reaction
The irreversible reaction is simply the special case of the reversible reaction if ....
(A) The equilibrium constant is zero

(B) The equilibrium constant is one

(C) The fractional conversion of the reactant at equilibrium conditions is zero
(D) The concentration of the reactant at equilibrium conditions is zero

For the isothermal gas-phase reaction A —— 3B, the fractional change in volume of the system
between no conversion and complete conversion is ....

@3 ®) 3

O1 D)2

Which one of the following is an example of autocatalytic reaction ?

(A) Photochemical reactions (B) Microbial fermentation reactions
(C) Enzyme fermentation reactions (D) Synthesis of ammonia

The exit age distribution of fluid leaving a vessel is used ....
(A) To know the reaction rate constants

(B) To know the activation energies of a reaction

(C) To study the reaction mechanism

(D) To study the extent of non-ideal flow in the vessel
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294.
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298.

299.

300.

When a catalyst increaese the rate of a chemical reaction, the value of the rate constant ...
(A) Increases (B) Becomes infinite

(C) Remains constant (D) Decreases

Throttling process ....

(A) Occurs at constant enthalpy (B) Increases the temperature of steam

(C) Produces shaft work (D) Decreases the temperature of an ideal gas
Raoult’s law is based on the assumption of ....

(A) Idal solution behaviour for the liquid and vapour phase

(B) Ideal solution behaviour for the liquid phase

(C) Ideal gas behaviour for the vapour phase

(D) Ideal solution behaviour for the vapour phase

Which one of the following is not correct under the new licencing policy of the central government
of hydrocarbon exploration - HELP ?

(A) Bidders will be required to quote revenue share in their bids

(B) Uniform licensing system covering all hydrocarbons oil, gas, coal led, methane etc.
(C) Marketing and Pricing freedom for the crude oil and natural gas produced

(D) Royalty will be same for shallow water fields and deep water fields

Recent proposal to set up National Data Repository (NDR) by the central government is aimed
to validate, store, maintain and reproduce high quality and reliable is based on ....

(A) Census data (B) Geo-scientific data

(C) Archeological data (D) Anthropological data

Which one of the following is not ture about the Special Economic Zone (SEZ) ?

(A) Deemed to be foreign territory for the purposes of trade operations and duties & tariffs

(B) Any company set up with FDI has to be incorported under the Indian Companies Act with
the Registrar of Companies for undertaking indian operations

(C) Domestic sale of finished products, by-products is permissible on payment of applicable
custom duty.

(D) Only foreign companies in private / public / joint sector or state governments or its agencies
can set up Special Economic Zone (SEZ)

The eTaal web portal is to provide ....
(A) Free download of music (B) e-Payment gateway
(C) e-Commerce (D) e-transaction statistics

To be classified as ‘Large Landsend Unit’ the investment amount in plant and machinery should
exceed ....

(A) Rupees Ten crore (B) Rupees Twenty crore
(C) Rupees Fifty crore (D) Rupees Hundred crore

Which one of the following could be considered to be the next highest salt producing district of
Gujarat after Kutch ?

(A) Bharuch (B) Bhavnagar
(C) Surendrangar (D) Jamnagar
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